For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

190-862-190 Electric Lift (1993) Page 1 of 2
Electric Lift

WWW.mymowerparts.com



For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

190-862-190 Electric Lift (1993)

Electric Lift
Ref # Part Number
1 WD-900-2033
2 WD-450-0000
3  WD-450-0002
4  \WD-450-0003
5 WD-450-0001
6 WD-900-5589
7  WD-900-5503
8 WD-900-5593
9 WD-900-5592
10 WD-900-5599
11  WD-900-6026
12  WD-900-6028
13  WD-900-6039
14  WD-900-6031
15 WD-900-6056
16  WD-900-6061
17  WD-900-6050
18 WD-900-6051
19 WD-450-0005
20 WD-900-6126
21  WD-900-5591

Qty S/P/F

RPRPFRPOONDPNERPWWNENNMNNRPRRERERPR

Page 2 of 2

Description

Actuator

Actuator Mount

Deck Lift Adapter

Cable Mount, Nose

Cable Mount, Side

Cable Pulley

U-bolt

Cable Clamp

U-bolt, Actuator

Cable Thimble

Hex Nut, 1/4-20

Lockwasher, 1/4"

Hex Capscrew, 1/4-20 x 3/4", GR5
Hex Capscrew, 1/4-20 x 1", GR5
Hex Capscrew, 5/16-18 x 1", GR5
Hex Capscrew, 5/16-18 x 2", GR5
Hex Nut, 5/16-18

Lockwasher, 5/16"

Actuator Bolt

Hex Locknut, 1/2-13

Cable, 3/16" x 64"

WWW.mymowerparts.com



